Area and Perimeter (Squares and Rectangles)

Round to 2 d.p. if necessary.

Name:

Date:

http://www.learnersgrid.com

[1] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

12.4 cm

[2] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

5.6 m

[3] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

97.3 cm

R EEE—
112.5cm

[4] Use formulae and show ALL YOUR
WORKING!

Area =

Perimeter =

7.3 cm

12.5cm




Answers only (You do not need to show your working. Use your calculators and work quickly. The aim is to

find each solution quickly and accurately!) Round to 2 d.p. if necessary.

http://www.learnersgrid.com

[4] sidea=4.5cm;sideb=2.6cm

Area =

Perimeter =

[5] side a=92.3 cm; side b =65.8cm

Area =

Perimeter =

a

[6] side=42.8cm

Area =

Perimeter =

s

[7] sidea=54.5cm;sideb=42.6cm

Area =

Perimeter =

a

[8] sidea=12.3m;sideb=6.4m

Area =

Perimeter =

a

[9] side =492.3cm

Area =

Perimeter =

s

[10] sidea=133.4m;sideb=92.6m

Area =

Perimeter =

a

[11] sidea=42.7m;sideb=358m

Area =

Perimeter =

a

[12] side=812.1m

Area =

Perimeter =

5

[13] sidea=6.5cm;sideb=4.7cm

Area =

Perimeter =

[14] sidea=22.6cm;sideb=159cm

Area =

Perimeter =

a

[15] side=33.2cm

Area =

Perimeter =

s

[16] sidea=4.5cm;sideb=2.6cm

Area =

Perimeter =

[17] side a=92.3 cm;sideb=65.8cm

Area =

Perimeter =

[18] side =42.8cm

Area =

Perimeter =




Area and Perimeter (Squares and Rectangles) Name: A \SW&Y S

Date:

Round to 2 d.p. if necessary.

http://www.learnersgrid.com

[1] Use formulae and show ALL YOUR
WORKING!

Area = 1S 3-?@ cw:L

Perimeter = qu ’ é eva

124 cm

A =gl 0= ks
A= (2.4) Pty
A= 16370 P

[2] Use formulae and show ALL YOUR
WORKING!

Area = \3-“”-}'\/\'\1

Perimeter= | 5

S.6m
24m’
M= LV.) P:‘ L(L‘fu)
A= (Y- (,Yl' '-!) P L(Q'(”'Z
Pe= V3. P 22(8>

[3] Use formulae and show ALL YOUR
WORKING!

Area= 1.09 Ll-é.z‘SGMz
Perimeter = q_lO' AP

973 cml

—_—
1125 cm

A 2L

iy i (we.s)(ar3)

A > loaub. .2

(L /)

-
p

P

P =2(200,8)

P =t ¢

P =2(\.C+ °\7.3§

[4] Use formulae and show ALL YOUR
WORKING!

Area = q1.25cw\?"

Perimeter = 30\. 6 (aWV VN

73 cm[




Answers only (You do not need to show your working. Use your calculators and work quickly. The aim is to
find each solution quickly and accurately!) Round to 2 d.p. if necessary.

http://www.learnersgrid.com

[4] sidea=4.5cm;sideb=2.6cm
Area= 1.1 . T ewmt

Perimeter = 1 l-l;. 2 Cw~

[5] side a=92.3 cm;sideb=65.8cm

Area = 60?3- 's"(’CW\"
Perimeter = 31 6- 2 A

[6] side=42.8cm

Area = 183 1 -gL(' cm-"
Perimeter = 1__'?' '.L.?. C Va

[7] sidea=54.5cm;sideb=42.6cm

Area= 232l Fem®
Perimeter= | ©\ U2 ew

[8] sidea=12.3m;sideb=6.4m

Area= +F. T2 A"
Perimeter = 3?. L‘- WA

b

[9] side =492.3cm

Area = 7—‘4’7—33—6. Z’\Cw\\
perimeter= 19162, Z em

[10] side a=133.4m;sideb=92.6m
Area = 1,23;1 Q?Ll’ m‘

perimeter= 45 2 »Aa

L

[11] sidea=42.7 m;sideb=35.8m

Area = 1?2-?0 66 Ml
Periheter= l 5 —"' WwA

[12] side=812.1m
Area= 65450 éo “’1 W“t
Perimeter= 524 &, Lwa

[13] sidea=6.5cm;sideb=4.7cm
Arca= 30.5 Sev ®
Perimeter= &L+ % v

1

[14] side a=22.6 cm; side b=15.9cm

mea= 359, Bl em®

Perimeter = ?’ ? C wA

[15] side=33.2cm
Area= 11002, 24 C\Mz
Perimeter = 3—3 Z. ? C wa

S

[16] sidea=4.5cm;sideb=2.6cm
S
Area = 1 1 " -?’ [

Perimeter = 1- |+ ° ?,c. wA

o

[17] side a=92.3 cm; side b =65.8cm

Area= 60 FIp cn®

perimeter= 31 6o L e vn

b

[18] side=42.8cm

Area = 1.3 31 o 8"* t-m"

Perimeter= 17 1. Len,




